
Mesure d’un Rectangle (B)

Calculez les mesures manquantes pour chaque rectangle.
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P = 85,2 mm

A = 381,0996 mm2

1.

?

?

P = 113,96 cm

A = 755,58 cm2

2.
?

?

P = 33,72 yd

A = 71,064 yd2

3.

?
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P = 117,92 cm

A = 687,36 cm2

4.

?

?

P = 35,16 nm

A = 76,7016 nm2

5.

?
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P = 66 yd

A = 268,25 yd2

6.
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Mesure d’un Rectangle (B) Réponses

Calculez les mesures manquantes pour chaque rectangle.
1
2
,7
8
m
m

29,82 mm

P = 85,2 mm

A = 381,0996 mm2
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35,98 cm

P = 113,96 cm

A = 755,58 cm2
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y
d

8,4 yd

P = 33,72 yd

A = 71,064 yd2

3.
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42,96 cm

P = 117,92 cm

A = 687,36 cm2

4.
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9,54 nm

P = 35,16 nm

A = 76,7016 nm2
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18,5 yd

P = 66 yd

A = 268,25 yd2
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